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�!{�K(4× 6 = 24(©))

(1)z = ln(x2 + ey), ¦zxy

(2)��È©gS

∫ 2

0

d x

∫ 2x

x2

f(x, y) d y
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(3)¦
∞
∑

n=1

(−1)n(x − 1)n

3nn
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(4))�§y d x + (x2 − 4x) d y = 0

�!O�K(7× 8 = 56(©))

(5)¦�Ô¡z = x2 + y2�²¡x + y + z = 1���þ�:��:��CålÚ��å

l"
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(6)¦f(x) = ln(1 − x2)3x = 0:�TaylorÐmª"

(7)�f(t) =
∫∫

x2+y2≤t2

(x2 + 2y2) dx d y, ¦ lim
t→0+

f(t)

t4
.
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(8)�a > 0, p > 0, ?Ø
∞
∑

n=1

an
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(9)¦)�§µy′′ − 2y′ + y = 1 + ex.

(10)®��<+¥§I5Ó60%�Ù¥�5%´Ú_�ö§å5Ó40%�Ù¥�0.25%´

Ú_�ö"yl<+¥?¿]À��<§¦µ

(i)d<´Ú_�ö�VÇ¶

(ii)e®�d<´Ú_�ö§¦d<´I5�VÇ"
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(11)��ÅCþξ��Ý¼ê�f(x) =







c|x|, �|x| ≤ 1;

0, Ù§
¦µ

(i)~êc��¶

(ii)−4

3
≤ ξ ≤ 0�VÇ¶

(iii)ξ�êÆÏ"EξÚ��Dξ.

n!O�K(2× 10 = 20(©))

(12)�f(u)3u ∈ Rþk��ëY�ê§z(x, y) = f(1 + xy).

(i)¦zxx, zxy, zyy;

(ii)ef(0) = 0, �z(x, y)÷v�§µ

1

x2 + y2
(zxx + zyy) + zxy = 1 + xy

¦f(u).

5



(13),�¬�ØÜ�Ç�10%, zg�ÅÄ�10��¬�u�§euyÙ¥kØÜ��

¬Ò�7LN���"eu�
zUu�4g§Pξ �N����gê§¦µ

(i)ξ�VÇ©Ù¶

(ii)zU²þ�N�Ag��(=¦Eξ)"
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�!{�K(4× 6 = 24(©))

(1)z = sin(x ln y), ¦zxy

(2)��È©gS

∫ 2 ln 2

1

d y

∫ 4

ey

f(x, y) dx
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(3)¦
∞
∑

n=1

(x − 4)n

2n
√

n
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(4))�§(1− 2e−y) d x + (x + 1) d y = 0

�!O�K(7× 8 = 56(©))

(5)¦�:�z2 = xy + x − y + 4��áål"
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(6)¦f(x) = lnx3x = 1:�TaylorÐmª"

(7)�f(t) =
∫∫

x2+y2≤t2

cos(x2 + y2) d x d y, ¦ lim
t→0+

f(t)

t2
.
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(8)�a > 0, ?Ø
∞
∑

n=1

an

1 + (2a)n
�Âñ5"

(9)¦)�§µy′′ + 2y′ = 1 + ex.

(10),/«Ø¬�_Ju¾Ç�0.0004, y^`��x{?1Ê�"®��k_J�<
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(i)d<z�(J¥�5�VÇ¶

(ii)e®�d<z�(J¥�5§¦d<�_J�VÇ"
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(11)��ÅCþξ��Ý¼ê�f(x) =







c cosx, �|x| ≤ π

2
;

0, Ù§
¦µ

(i)~êc��¶

(ii)−3π

4
≤ ξ ≤ 0�VÇ¶

(iii)ξ�êÆÏ"EξÚ��Dξ.

n!O�K(2× 10 = 20(©))

(12)�f(u)3u ∈ Rþk��ëY�ê§z(x, y) = f(ex sin y).

(i)¦zxx, zyy;

(ii)ef(0) = 0, f ′(0) = 1, �z(x, y)÷v�§µ

zxx + zyy = e2xz

¦f(u).
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zUu�41§Pξ �áÂ�1ê§¦µ

(i)ξ�VÇ©Ù¶

(ii)zU²þ�áÂ�1ê(=¦Eξ)"
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